Primary C. GREEN SCAPING, LP Fort Worth, TX

HUB: Yes
COOP: Yes

ITEM NO.	DESCRIPTION	EST. QTY.	UOM	UNIT PRICE	EXTENDED PRICE
Section 1: Erosion Control Services:					
1.	Silt Fence, machine installed	2,000	LF	\$3.65	\$7,300.00
1A.	Silt Fence, by hand installed	500	LF	\$5.65	\$2,825.00
1B.	Materials for Item #1, not installed	250	LF	\$1.90	\$475.00
2.	Rock Berm Installed with rock provided by Vendor	1,000	LF	\$39.00	\$39,000.00
2A.	Rock Berm Installed with rock provided by Tarrant County	2,000	LF	\$27.00	\$54,000.00
3.	Erosion Mat and Straw Staples, Installed	5,000	SF	\$0.26	\$1,300.00
3A.	Materials for Item #3, not installed	500	SF	\$0.16	\$80.00
4.	Erosion Mat, Excelsior Curlex, installed	5,000	SF	\$0.32	\$1,600.00
4A.	Materials for Item #4, not installed	500	SF	\$0.22	\$110.00
5.	Filter Fabric, 6 ga. Wire, installed	100	LF	\$9.40	\$940.00
6.	Stabilized Construction Entrance, installed	1,000	SF	\$1.95	\$1,950.00
7.	Sediment Control Log (SCL) (Straw), 9" diameter, installed	1,000	LF	\$5.90	\$5,900.00
7A.	Materials for Item #7, not installed	100	LF	\$4.30	\$430.00

Primary C. GREEN SCAPING, LP Fort Worth, TX HUB: Yes COOP: Yes

ITEM NO.	DESCRIPTION	EST. QTY.	UOM	UNIT PRICE	EXTENDED PRICE	
Sect	ion 1: Erosion Control Services, continu	ed:				
8.	Sediment Control Log (SCL) (Straw),12" diameter, installed	2,000	LF	\$8.60	\$17,200.00	
8A.	Materials for Item #8, not installed	500	LF	\$6.30	\$3,150.00	
9.	Erosion Mat, 12 oz. Permanent Turf Reinforcement Mat (TRM), installed	3,000	SF	\$1.08	\$3,240.00	
9A.	Materials for Item #9, not installed	300	SF	\$0.87	\$261.00	
10.	Sediment Control Log (Excelsior), 9" diameter, installed	1,000	LF	\$6.60	\$6,600.00	
10A.	Materials for Item #10, not installed	100	LF	\$4.90	\$490.00	
11.	Sediment Control Log (Excelsior), 12" diameter, installed	2,000	LF	\$10.35	\$20,700.00	
11A.	Materials for Item #11, not installed	500	LF	\$7.80	\$3,900.00	
	TOTAL SECTION 1:					
Delivery Charge, if required:						
Normal Delivery Time:					3 Days	
	Expedited Delivery Time:					
Expedited Delivery Cost, if required:						

C. GREEN SCAPING, LP Fort Worth, TX					
HUB:	Yes				
COOP: Yes					

ITEM NO.	DESCRIPTION	EST. QTY.	UOM	UNIT PRICE	EXTENDED PRICE
Section	on 2: Organic Erosion Control Services				
1A1.	Erosion Control Blanket, 1" seeded; installed; Summer Blend	1	SF	\$0.39	\$0.39
1A2.	Erosion Control Blanket, 1" seeded; installed; Winter Blend	1	SF	\$0.37	\$0.37
1B.	Erosion Control Blanket, 1" unseeded; installed	1	SF	\$0.36	\$0.36
1C1.	Erosion Control Blanket, 2" seeded; installed; Summer Blend	1	SF	\$0.70	\$0.70
1C2.	Erosion Control Blanket, 2" seeded; installed; Winter Blend	1	SF	\$0.68	\$0.68
1D.	Erosion Control Blanket, 2" unseeded; installed	1	SF	\$0.67	\$0.67
1E1.	Erosion Control Blanket, 3" seeded; installed; Summer Blend	1	SF	\$1.00	\$1.00
1E2.	Erosion Control Blanket, 3" seeded; installed; Winter Blend	1	SF	\$0.99	\$0.99
1F.	Erosion Control Blanket, 3" unseeded; installed	1	SF	\$0.98	\$0.98
2A.	Erosion Control Mulch Blanket, 1" unseeded; installed	1	SF	\$0.36	\$0.36
2B.	Erosion Control Mulch Blanket, 2" unseeded; installed	1	SF	\$0.67	\$0.67

C. GREEN SCAPING, LP Fort Worth, TX					
HUB:	Yes				
COOP:	COOP: Yes				

ITEM NO.	DESCRIPTION	EST. QTY.	UOM	UNIT PRICE	EXTENDED PRICE
2C.	Erosion Control Mulch Blanket, 3" unseeded; installed	1	SF	\$0.98	\$0.98
3A1.	Compost Filter Berms/Check Dams 1 ft. x 2 ft. seeded; installed; Summer Blend	1	LF	\$22.68	\$22.68
3A2.	Compost Filter Berms/Check Dams 1 ft. x 2 ft. seeded; installed; Winter Blend	1	LF	\$22.54	\$22.54
3B.	Compost Filter Berms/Check Dams 1 ft. x 2 ft. unseeded; installed	1	LF	\$22.40	\$22.40
3C1.	Compost Filter Berms/Check Dams 3 ft. x 5 ft. seeded; installed; Summer Blend	1	LF	\$119.28	\$119.28
3C2.	Compost Filter Berms/Check Dams 3 ft. x 5 ft. seeded; installed; Winter Blend	1	LF	\$119.14	\$119.14
3D.	Compost Filter Berms/Check Dams 3 ft. x 5 ft. unseeded; installed	1	LF	\$119.00	\$119.00
4A.	Mulch Filter Berms/Check Dams 1 ft. x 2 ft. unseeded; installed	1	LF	\$21.00	\$21.00
4B.	Mulch Filter Berms/Check Dams 3 ft. x 5 ft. unseeded; installed	1	LF	\$109.20	\$109.20
5A.	Compost, Filter Tubes/Check Dams 8" Dia., no stakes; installed	1	LF	\$10.78	\$10.78

C. GREEN SCAPING, LP Fort Worth, TX					
HUB:	Yes				
COOP:	COOP: Yes				

ITEM NO.	DESCRIPTION	EST. QTY.	UOM	UNIT PRICE	EXTENDED PRICE			
Section	Section 2: Organic Erosion Control Services, Continued							
5B.	Compost, Filter Tubes/Check Dams 8" Dia., with stakes; installed	1	LF	\$13.86	\$13.86			
5C.	Compost, Filter Tubes/Check Dams 12" Dia., no stakes; installed	1	LF	\$15.68	\$15.68			
5D.	Compost, Filter Tubes/Check Dams 12" Dia., with stakes; installed	1	LF	\$18.76	\$18.76			
5E.	Compost, Filter Tubes/Check Dams 18" Dia., no stakes; installed	1	LF	\$30.10	\$30.10			
5F.	Compost, Filter Tubes/Check Dams 18" Dia., with stakes; installed	1	LF	\$33.18	\$33.18			
6A.	Mulch Filter Tubes/Check Dams 8" Dia., no stakes; installed	1	LF	\$10.22	\$10.22			
6B.	Mulch Filter Tubes/Check Dams 8" Dia., with stakes; installed	1	LF	\$13.16	\$13.16			
6C.	Mulch Filter Tubes/Check Dams 12" Dia., no stakes; installed	1	LF	\$15.12	\$15.12			
6D.	Mulch Filter Tubes/Check Dams 12" Dia., with stakes; installed	1	LF	\$17.92	\$17.92			
6E.	Mulch Filter Tubes/Check Dams 18" Dia., no stakes; installed	1	LF	\$27.58	\$27.58			
6F.	Mulch Filter Tubes/Check Dams 18" Dia., with stakes; installed	1	LF	\$31.64	\$31.64			

C. GREEN SCAPING, LP Fort Worth, TX					
HUB:	Yes				
COOP:	COOP: Yes				

ITEM		EST.	UOM	UNIT	EXTENDED		
NO.	DESCRIPTION	QTY.		PRICE	PRICE		
Section	Section 2: Organic Erosion Control Services, Continued						
7A.	Install Organic Filter Tube, 8" Dia.	1	LF	\$13.86	\$13.86		
7B.	Install Organic Filter Tube, 12" Dia.	1	LF	\$18.48	\$18.48		
	TOTAL SECTION 2:						
Delivery Charge, if required:							
Normal Delivery Time:							
Expedited Delivery Time:							
	Expedited Delivery Cost, if required:						

C. GREEN SCAPING, LP Fort Worth, TX					
HUB:	Yes				
COOP: Yes					

ITEM	1	EST.	UOM	UNIT	EXTENDED		
NO.	DESCRIPTION	QTY.		PRICE	PRICE		
<u>Section</u>	Section 3: Hydromulch Services:						
1.	Hydromulch Application per specifications, per SF, installed	1,000	SF	\$0.12	\$120.00		
2.	Medium Slope, Hydraulically-Applied, EFM Hydromulch	1,000	SF	\$0.17	\$170.00		
3.	Steep Slope, Hydraulically-Applied, EFM Hydromulch, installed	2,000	SF	\$0.18	\$360.00		
	TOTAL SECTION 3:						
Delivery Charge, if required:					\$1,500.00		
Normal Delivery Time:					3 Days		
Expedited Delivery Time:					1 Day		
	Expedited Delivery Cost, if required:						

C. GREEN SCAPING, LP					
Fort Worth, TX					
HUB: Yes					
COOP:	Yes				

ITEM		EST.	UOM 50	UNIT	EXTENDED	
NO.	DESCRIPTION	QTY.	LB. BAG	PRICE	PRICE	
Section	Section 4: Fiber					
1.	100% Pure Wood Mulch, 50 lb. Bag	50	3,000	\$32.00	\$32.00	
2.	Wood with Tac, 50 lb. Bag	50	3,000	\$44.00	\$44.00	
3.	Hydro Blanket, 50 lb. Bag	50	3,000	\$89.00	\$89.00	
4.	Wood Cellulose Fiber, 50 lb. Bag	50	3,000	\$23.00	\$23.00	
5.	Guar Tacking Agent, 50 lb. Bag	50	3,000	\$230.00	\$230.00	
TOTAL SECTION 4:						
Delivery Charge, if required:						
Normal Delivery Time:					3 Days	
Expedited Delivery Time:					1 Day	
Expedited Delivery Cost, if required:					\$200.00	

C. GREEN SCAPING, LP					
Fort Worth, TX					
HUB: Yes					
COOP:	Yes				

ITEM		EST.	UOM 50	UNIT	EXTENDED			
NO.	DESCRIPTION	QTY.	LB. BAG	PRICE	PRICE			
Section	on 5: Seed							
1.	1. Hulled Bermuda 95/85, 50 LB. Bag 50 2,000 \$610.00							
2.	Unhulled Bermuda 95/85, 50 lb. Bag	50	2,000	\$480.00	\$480.00			
3.	Annual Rye Grass 95/85, 50 lb. Bag	20	2,000	\$69.00	\$69.00			
4.	Winter Wheat 95/85, 50 lb. Bag	50	2,000	\$38.00	\$38.00			
	тс	TAL SE	ECTION 5:		\$1,197.00			
	Delivery Charge, if required	:			\$550.00			
Normal Delivery Time:					3 Days			
Expedited Delivery Time:					1 Day			
Expedited Delivery Cost, if required:					\$200.00			
Section	Section 6: Fertilizer							
1.	1. Water Soluble Fertilizer, 16/45/7, 2.5 Gallon 2.5 1 \$360.00							
2.	Homogenized Fertilizer, 13/13/13, 50 lb. Bag	50	1	\$44.00	\$44.00			
TOTAL SECTION 6:				\$404.00				
Delivery Charge, if required:					\$550.00			
Normal Delivery Time:				3 Days				
Expedited Delivery Time:					1 Day			
Expedited Delivery Cost, if required:				\$200.00				

C. GREEN SCAPING, LP Fort Worth, TX				
HUB: Yes				
COOP:	Yes			

ITEM		EST.	UOM	UNIT	EXTENDED	
NO.	DESCRIPTION	QTY.		PRICE	PRICE	
Section	Section 7: Top Soil					
1.	Topsoil, delivered	1	CY	\$46.00	\$46.00	
	Minimum quantity per delivery, if required:	10 CY		·		
2.	Topsoil, picked-up	1	CY	\$31.00	\$31.00	
	Minimum quantity per pick-up, if any:	3 CY				
	TOTAL	SECT	ON 7:		\$77.00	
	Delivery Charge, if required:				\$550.00	
	Normal Delivery Time:				3 Days	
	Expedited Delivery Time:				1 Day	
	Expedited Delivery Cost, if requi	red:			\$200.00	
Section 8: Transition Mat (TM):						
1.	TM (4-feet X 4-feet panel), 8 anchors, installed - 15 Per Panel	1	Lot	\$388.00	\$388.00	
Minimum quantity per delivery, if required: 2 Each TOTAL SECTION 8:					\$388.00	
Delivery Charge, if required:				\$550.00		
Normal Delivery Time:				3 Days		
Expedited Delivery Time:					1 Day	
Expedited Delivery Cost, if required:					\$200.00	

C. GREEN SCAPING, LP Fort Worth, TX				
HUB: Yes				
COOP:	Yes			

ITEM NO.	DESCRIPTION	EST. QTY.	UOM	UNIT PRICE	EXTENDED PRICE
Section	on 9: Control Mat (CM):				
1.	Roll of 1-feet x 50-feet, installed (2 Rolls per Mat)	1	Roll	\$2,770.00	\$2,770.00
	Brand Model: Flexamat				
	Minimum quantity per delivery, if required:				
2.	Roll of 10-feet x 50-feet, delivered (2 Rolls per Mat)	1	Roll	\$1,810.00	\$1,810.00
Brand Model: Flexamat					
Minimum quantity per delivery, if required: 2 Rolls					
TOTAL SECTION 9:					\$4,580.00
Delivery Charge, if required:					\$2,880.00
Normal Delivery Time:				3 Days	
Expedited Delivery Time:				1 Day	
Expedited Delivery Cost, if required:				\$200.00	